Business objectives, Ratios
The financial ratios can be calculated on the basis of the information contained in a companies annual financial statement (= balance sheet, P&L account)

These ratios tell us whether a company is 

· Profitable

· Liquid and/or

· Productive

These ratios can be of great interest to:

· The entrepreneur 

· Lenders

· Potential investors

· Suppliers 

· Employees

· The media

Productivity
The profitability can be calculated in two different ways.
Whether a calculated productivity value is actually good or bad can only be established on the basis of an appropriate comparison.

1.) The lowest possible input is to achieve the highest possible output.

Productivity = input/output

Example:

A car needs 5 litres of petrol per 100km.

Input= petrol

Output= numbers of kilometres

Productivity = 5 litres/ 100 km = 0.05 litres per km

2.) The highest possible output is to be achieved with the lowest possible input.

Productivity = output/input

Example:

A car needs 5 litres of petrol per 100km.

Input= petrol

Output= numbers of kilometres

Productivity = 100km/ 5 litres = 20 km per litre

Return on sales

Return on  sales = (profit/sales revenues)*100

This calculation shows the profit the company achieve from 100€ of sales revenues.

Whether or not this is a satisfactory result can only be determined by comparing it with the profitability figures of comparable competitors.

The higher a company’s return on sales compared to its competitors, the more efficiently it is working and the better its competitive situation on the market.

Profitability

A company will only remain competitive if its operation are economically efficient, ( profitable. Being profitable means at least as efficient as the competition.

The link between productivity and profitability is money.

Example:

A car needs 5 litres of petrol per 100km.

1 litre costs 1.2 euros

5 litre costs 6 euros

Profitability = 6 euros/ 100 km = 0.06 euros per km

Return on equity

Profit has to be related to the capital invested in order to find out whether a company is profitable.

Return on equity = (profit/ equity capital)*100

The Return on equity should be higher as a return that can be achieved with any type of investment. (= savings book,…)
Savings book would mean less input in terms of time and effort and fewer risks.

Return on investment

ROI is the ratio of the profit achieved in relation on the entire amount of money invested in the company (total equity and liabilities), rather than just the equity capital.

Return on investment= (profit/total equity an liabilities) *100

The higher the return on investment, the better the company has managed the invested capital.

Liquidity

Talking about a company’s  liquidity means talking about its ability to fulfil its financial obligations at any given time. If this in not the case, the company experiences a liquidity shortage, which may even threaten its survival.
A basic tenet of business management is: liquidity has priority over profitability.

Liquidity implies that a company:

· Is able to cover ongoing expenses form current income

· Has sufficient resources it can turn into cash to meet extraordinary expenditures
· Maintains high creditworthiness in order to be able to bridge a possible liquidity shortage with a loan

Ratios concerning to liquidity

· Cash ratio, quick ratio and current ratio

· Equity ratio

· Cash flow

Cash ratio

Cash ratio = (liquid funds/ short-term liabilities) *100

The liquid funds represent a company’s cash resources. In other words the asset that can be turned into cash immediately.

Short-term liabilities are accounts payable for products and services already received but not yet paid for.

The cash ratio should be over 100%.

Quick ratio

Quick ratio = (liquid funds + short term accounts receivable/ short-term liabilities)*100

The quick ratio should be well above 100%. A ratio of about 120% may be deemed satisfactory.

Current ratio 

Current ratio = (current assets/short-term liabilities)*100

This ratio should be about 150%.

This ratio should not be too high either, because a very high ratio would indicate either an excessive volume of stock in hand in the inventory or inadequate claims management.
Equity ratio

The equity ratio shows what share of a company’s total capital was contributed by the owners.

Equity ratio = (equity capital/total equity and liabilities)*100

A very low equity ratio means that a large part of the company’s assets has already been financed with borrowed capital.

Debt ratio

The debt ratio indicates the percentage share of borrowed capital in total equity and liabilities.

Debt ratio = (borrowed capital/total equity and liabilities)*100

The lower the debt ratio the better the creditworthiness of a company

Cash flow

The cash flow can be defined as the surplus of actual income over actual expenses.

Cash flow = actual incomes – actual expenses

Not taken into account in the cash flow statement are expenses that are only booked through the profit an loss account and which did not give rise to an actual payment (= depreciation, provisions).

The cash flow is a ratio that is often taken to reflect a company’s financial strength and is also often used to measure the liquidity.

The cash flow of a company can be used for

· Distributing a profit

· Making investments

· Repaying loans

· Setting up reserves
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